30 Ubgtdboottd

gbooooboooobooboooobobooobooboooobon
oobobooooooooooobooooooboooobooboooobooa
gobooooboooobobooooobooooboboooboooboooo
gboboooooobboooboooboobooobboooboooobooonbo

gboooobooooboobooooboboooooboooooboan
obobooobooooooooooooooooooboooobooooooooonoa
gobooooooooooobooooooo

3.1 0oong

3.1.1 0O0dboooodgdan

0000000000000000000000000000000000
000000000000000000020000 2,y0000 max(z,y)0
00000000y<z0000# 0000000y000000000000
000020000 abs(z)0(x>00000)0020000 az®+bz+c=0
0000000 solutions(a,b,c)0(000000)00000000000
ooooooo
00000000000000000000000000000

r (y<z2D00O0)

mﬂmw*:{y (0ooOo)

gbobooboboooboooboooboooooooooooboooooooo
U000 maxOOOOOOODOOOOOOODO

00000QRU0000pO00000o00U0ooo00 100ooooo
if,else,end 000000000000 0O0OOODO0OODOOO0ODOOODOO
goood

oboooooooboooooooon

irb(main):003:0> load("./max.rb")
=> true

irb(main):004:0> max (123, 456)

=> 456
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def max(x,y)
if y < x
b4
else
y
end

end

goo00 3.1: max.rb

irb(main):005:0> max(max (12, 34), max(56, 78))
=> 78

00 3.1 (000) 00 x0000000000 abs(x) DO0DODOOO

3.1.2 30000000

dod 0000000 tO000DQ0DODOO 1,-1,00000000000
O0O0sign(x) 0000000000000 OOO0 30000000000
gooo

-1 (x <0)
sign(z) = 1 (0<a)
0 ([l[l[ll:l)
gdob0oldodoboodouoooobobooouooooouoon
gbooooooooo3douoooobobodoobuoooobouoooboooa
gbddoobooooooboooooobOooooobooooooboooa
goooao
(DDDDDDD:BE)

3.1.3 000o0on

gbooooboooobobooooboboooobooboooooboan
0000000000 if y<xOOOOOOOOODOOOOOOOooOOao
gooboooboooobobooooobooboooooobooooboooboo
gbooboobooobooboboooobooooboboooobooon
gbooooboooooboooo

0000 RubyOOOOOOOOOOOOODOOOOODOOOODOO
gboooooobooooboboooobooobooboboooobooo
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def sign(x)

if x < 0

-1

else

if 0 < x

else

end
end

end

# not (x<0) and 0<x

# not (x<0) and not (0<x)

ooo0gd 3.2: sign.rb

goboboobgob1l1gboobooboobooobooboobooobog
0000B200000000000000O0O0O0ODOOO0O0

goooon

gbobobooaobooboobobbooboaoboobooboboab
gobobooobooboobooboobobobooobo

ooo o0 |00

x> y > xOydoooao

X >=y > xOyQdO

X ==y x0yO0O0O00 (x=yOOOOODOOO)
x < y < xOydoooao

x <=y < xUOyQdO

x!'=y| # |xOyOOooOo

gboooooao

oo0oo00oOo0o0ooOoooO0o0oDoOoooO00oDOoOb0O0RubyOd
[,&, ! OO00D0OOCCO0O0ODAOOOBMAOO BMOAOOOOOOO
gbooooboooobobooooboon

ooo oo
x>y |l x == x>y OO0 x ==
x<yé&&y<z x<y OO y<z

Ix<y&y<z)| x<yOly<=z)00OO
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3.2 U0OOOOooOboOoonOn

OBI000 if y < x00O0OO0DO0O0ODD0O0ODO0OOO0OO0OO0OODOOOOOO
oboboooobo0 g OO0OoooooOobobooooooooooan
obooooboooobobooooboooobobooboboooon
oobooooooooooon

goboooobooboooobooOoooooobooboooboooboooo 20
O0000000CRubyDODOOODOOODO true, 00O0O0ODODO false
oooo

ubb 1< x0020000000000000000000O000O0O 1
+x02000000000000000DO000O00O0O00OOOO0OOO0
obooooboobooooOobobooobobor < x00000o0o0ooon
ooooooogooboo

irb(main):003:0> x = 3
=> 3

irb(main) :004:0> 1 < x
=> true

irb(main) :005:0> x == 2
=> false

goboboooooooooobboooobboooooboooobooooon
Ubx00000000000x0 20000000 00000000000
oboooobobooooobooooboobooonog

def is_even(x)
x%2 == 0

end

o000 3.3: is_even.rb

gboobooboooobooboooobobooooboobooobooobaon

000000 tnpo(n) D000 D 0000000000000
000000 “three n plus
z ooo one” 000DOOODO
tnpo(n) = 2 (n ) (3.1)
3n+1 (nO0O0O)

000 RubyOOODOOOOOO0OO0DOODODMnO000DODODOOOOOO

000000000000 D00 is_even(x) OO0OO0O0O0DOOO0OOCDOOOO
00000, I, (0DBI30)0010000 20000000000

gbooooboooooobooooboobooooooboon

irb(main) :007:0> true && 1 < x
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load("./is_even.rb")

def tnpo(n)
if is_even(n)
n/2
else
3xn + 1
end

end

0O004d 3.4: tnpo.rb

=> true
irb(main) :008:0> false || true && !'(falsel|true)
=> false

000000000000000000000000000000000
00000000000000000000000000000000000
00x0 00000000000 near_zero(x) 000000000000

(0000000: BIBR)

3.3 UoQ

oooobooOoooooooooooooboooooo 1ooooooooon
gboooooooooobobooobobobob0o bobooobooobobooobo
oooboooooooooooobooooboomoooo nobooooo
gbooboobooooboboooobobooobooboooobobo

000000000000 O00oUOoooOooooooooogon Ascla
oboboooboobobooobobobooobooboooooobooooon
oooooooooon

O0O00O0abraD00cadabra0 000000000000 COOOO0OO
0000o00o00oU0oo0oU0oooOoU (vyooooooooo

00 tnpo(n) 000 EI2d 00 ERJOOO00ODO CollatzOO OO O OO
00000 dtnpo(7), tnpo(tnpo(7)), tnpo (tnpo(tnpo(7))),...00
gogoooo
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def epsilon()
0.0000001

end

def near_zero(x)
-epsilon() < x && x < epsilon()

end

0000 3.5: nearzero.rb (00D OO0000O0O0O0D0O 000000
O (0 L540)epsilon() DO0OOO0DOODOOODO)

irb(main):003:0> s = "abra"
=> n abra"
irb(main):004:0> t

=> "cadabra"

"cadabra"

O0000 sOt00abralD00cadabrad0000000D00O0O00OO0O20
gbooboobooooob+00000o0

irb(main):006:0> u = s + t

=> "abracadabra"

irb(main) :007:0> "123" + "456"
=> "123456"

gobobooobogboobooboboaobooboooobooaboo
000000 @MOOO0O000 1220000000 460000000+00
b0 123466 0000000000
oboooooboooooboobooooboboooooboooooboon
gobobooboobooboooboboobooboobooboobo
gboooobobooooobobooobobooocoonog
O000000000000DO0O000D000 .1lengthO OOODO

irb(main) :009:0> s.length()

=> 4

irb(main):010:0> (s + t).length()
=> 11

gbobooboaoboabooobooboboab

irb(main):012:0> s[0..0]

=> tngn
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irb(main):013:0> s[1..2]
=> "pr"

0000..00000000000000000000000000000
oooo
(0000D000:BY)

34 UO0O0OO0OO0OOOOOOOO

Yy \
(r,7) bz, y) =

2r
e
2r

031:00000000000000(0)ooOooooo (@)

O0BI0)0000000000000000000000000000
0000000000000000000000000000000000
0000000000000000000000000000000000
00000000000 2 x2r, 00 (z,9)00 (nr) 000000 d(z,y)
00000000 (z,y) 000 b(z,y) 0000000000000

s (d(a,y) <)
b(x’y)_{ L () > ) 32

obobooboooooogd 2rx2rd0boobobooboobobooboon
gbooooboooobobooooboooobobooboobooon
gooooo

3.4.1 000000000 10000000

o0oO00ooOooboooobOOo0 [1,2,3J0000000DODOODOODO
oollooooooooooooooooooboooooooboooooo
gboooooboooooboooooboooon
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00000000 O000O00DO0O RubyOO Array.new(10) 0D OO
gobgodogobobbobbooboobooboobo

Ud: doboooboooboooboooboooobbire0gn
OO0 E2ZI000000 isrb 000000 irb00000O0OOOO

gbooob isrvp000000000O000O0O0O

>> image = Array.new(6)

=> [nil, nil, nil, nil, nil, nill
>> a = Array.new(3)

=> [nil, nil, nil]

0000000 1,2,30000O000O00O000ODOO00DOO0O0D0OOn
ob0o0ooboobooobod il 000000o0o0ooboooboonn
goooogoo

3.4.2 U000OO0OOOOO0OO0OOODOOOODOOOOOn

00000000000000000000000000
a; =0 (Vi€0...2)

0000000 e00OD0eq U0 e OO00000O00O000O0O00O0DODO
O0RubyOODOODOO for 000000000 a0000ODO ODOODO
goo

>> for i in 0..2
>> alil = 0

>> end

=> 0..2

>> a

=> [0, 0, O]

ooooopOOOoDO0O@oOoOominood,...,20 0000000000
alil=000000000000D0C0O0O for00D00OoooooobooboOn
000000 @OO0)00000O00o0OoOoOooono

00 3.2(0000000000) 0000000000 OODOOOOO
1000000000 makeld@) 0000000 OOD:BOO0O0OMNOODO
O0000oO0O0o0ooOoooooooon)

>> makel1d (10)
=> [O’ 0, O, 0’ O’ 0’ O’ O’ O’ O]

(00000DO:BID)
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3.43 20000000

20000000000000O010000C00O00O00DO 100000
000060 300000000000000RB2A0000 makeldOO OO
ooooooooooo

>> for i in 0..5

>> image[i] = make1d (3)
>> end
=> 0..5

>> image
=> [[o, o0, 0], [0, O, O], [0, O, O], [0, O, o], [0,
0, o], [0, 0, 0]]

00 3.3 (20000) hOwOODOOOO make2d(h,w) 0000000
gbooooooboooooboobobOonn

>> make2d (2,3)
=> [[0o, O, 0], [0, O, O]]

3.44 2000000

2000000000000 00D00%x,y000D000D0000 imagely] [x]
=b(r,x,y) 00000000000 BI00000O0O0OO00O0O0OOO

ugboobodbd x,yuoboooobobooooboboooo24a0
gobobo0ooboboOobOod sphered0gnoogn

def sphere(r)

image = make2d (2*%r, 2%r)

for y in 0..(2xr-1)
for x in 0..(2%r-1)

image [yl [x] = b(r,x,y)

end

end

image

end

gbOoOgd 3.6: sphere.rb

O00000@BO000@oOOo000yOOOOOOOODOOOOOOO
O0O00DMHECODOOD0OEOOD 0O000x00000000000000O
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y0 000OO0OOxD00,1,2,...,2r—1000000@O000OO0

y0 10000x00,1,2,...,2r—1000000BO00000

y020000x00,1,2,...,2r—1000000FO00000

eyO2r—10000x00,1,2,...,2r—1000000FO00O000

gboooobooooboboooobooooboboooobooon
ooooo

O000BEOODOOO0 p.BA0O0BA(DOODOOOYODOOOOO
gboooobooobooboboooobooooboobooooono

00 34 (0000D00OU0O0ODO0O0D) UB2A0DOD0O0O0D0OOO b(r,x,y) O
0000 (z,yO0O0O0OO0-0000000000000000 )Ushow(sphere(20))
000000 BIo0o0000o0o0ooo0oooooooo

(0000000 : BI2BI3)

3.5 UOoggno

DDDD:DDDDDDDD]D—QIDDDDDDDDDDDDDD

googobooboooboooboob|g,pooboobb

else

end

UbO0: true D falseOOOOOOODOOOOODOOOOOO

ooooog: 200 "ObOOooOo0oO0ooOOobOOoO0oooDbOobOooonog

nooooo: [0, +|0.|o00000[0,)[0.jpo00000000

gboooooboooobooooooon

0DO00000: [0, 1ength(0 000000[0,[000000000000
ooo

Doooo: |0,.]]0.].[0spoooooojo,pooooooo(o.]

DDDDDDDDDDDDDDDDDDDD
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Ub00:nil 00000000 OO0OOOOO0O0O0OO0

00000 Array.new(0 pO0000000000(0 00000000
0000000000 000000000 nil0000

DDDD:]DD\DDD]DJDDDDDDDD 10000000000
0Doj0o,|poj0o0,.poD000000000000000000

for (00 | in |0,]..[0,]

EREE

end

3.6 U000

00 3.5 (0000) 0000000000 UOOOOUOO

a) 20000 ar’+br+c=000000000000 solutions(a,b,c).
OooOoooOoOo0O000l100o0o0o0o00o0o0oooooooo

b) 20000 ar’+br+c=000000 10000 solvel(a,b,c).
dooddooooOoOo0ol1ooobOo0oo00o0ooooooooOoao

¢) 3000000%,y,z0000000000000000 median(x,y,z).
OO0000o0000ooo0ooooooooooooooooooon

d) 00000 income 0000000000000 OOOO income_tax(income).

obo0oz2oe080000000000000DO0OO0OOODOODOO

() 19500000000000 5%.
(b) 195000000 33000000000000 10%.

(d) 695000000 9%00000000O0OO0O 23%.

)
)

(¢) 330000000 69500000000000 20%.
)
)00 ODUDDO 18000000000 OOOO 33%.
)

(e
(f) 1,000 0000000000ODO 40%.

goooooooooooooooooooboboooboobobon 250
O000000000000O0 19000000 5%, 00050000
0010%0000000000195x0.05+ (250 —195) x 0.10 = 15.25(

o0)ooooooo
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0000000000 19%009500000 1050000000000 00000000 (200600
0000000000000 00000000000 100000000 0000)000000
00000000000

e) 00 year 0 200000000 days_of_february(year). 0000
yearJOOOOOOOOOOOOOOOODOODOOOOOO
(a) yar0 4000000000000DOO

(b) 00 () 00000000 0year 0 1000000000000
00

(¢) 00 (b) 00000000 Oyear D 4000000000000
000

f) 00 year O month D 0 000000 days_of_month(year,month).

00 3.6 (000000000) 00BAI0000000 median0000
0000(a)if y < x0000000000000 median1 00 (b) & 00
000000000000000000000000 median2000000
0000000000000000

00 3.7(000000000) 000000000 OOOOUOOO
a) x0yOOOOOUOOOODOODOO divisible(x,y).
b) x<y<zOOOUOOOOOOQO ascending(x,y,z)

¢) 00 yDODOOOOOOOOOOOO0O leap_year(y).

oboooboobobooooboobob4b00000000DO0OO0DOO
000000 10000000000000000 40 (1000000)
gbooboobOobobooboooooooboooboonon 19000
gbooOoz2ooc0000002008000002100000000000

d) 00 i000 0000000000000 within_range(a,i). O
D000 a000000000000a.lengthODOOOO0O0DODO

e) 00 (x,y) D00O0O0 img 00000000000 within_image(img,x,y).
(000: 000000 within_range 00 0O0ODO)

00 3.8 (0000) 0DOU0ODOO0OUOOOUODOOUOOOOOO

0000000000000000000000000 xor(x,y), implies(x,y)J000(M0O0, 0000
oooooo 000)p. 158000
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X y xor(x,y) implies(x,y)
false false false true
false true true true
true false true false
true true false true

00 3.9 (000) 0000O0OO0OoUOooOOn
a) 200000 s,t00000000000000O0 longer(s,t).

by 002000000 s0000000O0DOODOOOOOOODODOOO
trim(s). 000 trim("abc")="b" 0000

c) 000 s00000000ODO0O0OO0O0DOO00O0OO upsidedown(s). O
O 0 upsidedown("takeover")="overtake" OO O D0DOOD0OODO
OO0000D00OQO upsidedown("least")="stale"ODOOOODOODO
ooooo

00 3.10(0000000000000) a)all00000000Oa
OxO0000O0O000ODO0ODOO0OO0OOODO length3(a,x) DOOO

3 (0<x<f-1)
length3(a,x) =< 1 (x=000/¢=1)
2 ((>100 (x=0000 x=/0—1))
O00/000 ab0O0O

0: 00000000000 sum3(a,x) 0000000C00000O0O0O
good

b) 002200000 image_average9(image,x,y) 00000 Z300
000 sum3(a,x), array_average3(a,x) 00x(0 y) 0O OOOOO
00000000000 DO0O0000000DDO00000 image_average(image,x,y),
sum, array_average(a,x) OO0O00O0OO0ODO a0 [1,2,3,4]1 00
O sum3(a,3)0 30 4000000 3500000

¢) U0 a0i000 jO000000OO00OOOOO swap(a,i,j)OdO00
oo a-= [0,1,2,3] swap(a,1,3) 00000000 O0OOOO
al [0,3,2,1] 0000

d) 00 a0i0d00i+100000000000000000000O0
00000000000 000D0 swap_ascending(a,i) DDOOO

000 a= [3,1,4,1]swap_ascending(a,O) Oo00oOoOooooo
O000a0O [1,3,4,110000000000 swap_ascending(a,1)
ooooooad [1,3,4,11 0000000
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00 3.11 (000U0O0) 000 n0+4+000004/0000000001
000000000 gradation(n) D0O0O0O0OD(0D0UD0: makeldDd 000
gboooboboibooboooobooboooobooobooobooona
ooooooooooon)

00 3.12 (00000 *) 0B20000000000000O00O000O0
oood

(b)
(d) ()

0 32.000000000000000OC

00 8.13 (00000 *) 000000000000 UDO0OOOOOOOO
gboboobooboooobooobooooobboobobo sboooooo
ooooooogooo o0 %DDDDDDDDDDDDDDDDDDD
img 0000000 (x,y) 0000000000 OOO0OOOOOOO

imgl[yl [x] = (s[y][x]+1)%*0.5

(00000000Os.length() 0000 0s[0].1length() OO0 OOO0DOO
o)
goooOoOoOoOoOoOoOoOoO0O0OO0B2O0O000ooooooood

a) 0000000 img0000000000000 brighter(img).

b) 0000000 imgl, img20 000000000 blend(imgl,img2).
0000000000000000000000000000

c) 0000000 img000OO0OOD blurGimg). (00 Z2A0C0OODO
image_average9 0O 0O0O)

0000000 utlogo.xb 00000000 OO0O0OOOOOOOOODO
0000000 logoO ODODODOOOODODDOOOOODOD blur(img)
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0000 show(blur(logo())), show(blur(blur(logo()))) OO OODODO
oooooooooooooboooooooo

logo() blur(logo()) blur (blur(logo()))
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